
ABBSOFT COMPUTERS


Data Communication

(1) _____________ is the primary tool of the technical writer

(a) English

(b) Microsoft Word

(c) Robo Help

(d) Frame Maker

Ans  -A

(2) Which of the following is not an indicator of excellence in technical   

Communication.

(a) Honesty

(b) Accuracy

(c) Verbosity

(d) Brevity

 Ans -C

(3) What is the full form of STC 

(a) Society for Technical Command

(b) Society for Technical Completion

(c) Society for Technical Computer

(d) Society for Technical Communication

Ans -D

(4) Which of the following is not noun

(a) Proper Noun

(b) Collective Noun

(c) Prefect Noun

(d) Abstract Noun

Ans -C 

(5) Which one of the following definite article

(a) A

(b) The

(c) An

(d) None of the above

                       Ans  -B

(6) Technical communication is also referred to the following

(a) Technical Support

(b) Technical Service

(c) Technical Writing

(d) None of the above

Ans -C 

(7) Which one of the following is the characteristic of Technical Communication

(a) Target a Specific Routers

(b) Helps Router to solve Techniques

(c) Involves graphics

(d) Involves Visualization

Ans -D    

(8) What is the full form of CFT 

(a) Cross Functional Teams

(b) Cross Functions Terminal

(c) Crossing Factorial Team 

(d) None of the above 

Ans -A

(9) Which one of the Indefinite article 

(a) The

(b) They

(c) Are

(d) None of the above

Ans D

(10) What is the Full Form of SLIM

(a) Self Listening Material

(b) Self Learning Material

(c) Both a and b 

(d) None of the above

Ans  B

(11) According to Pfeiffer and Boogerd what has to be identified in planning Multicultural situation

         for each audience.

(a) Purpose 

(b) Needed Information 

(c) Educational Background 

(d) All of the above 

Ans D

(12) which of the following type of questions are very significant in an SME interview

a. Close Ended 

b. Open Ended

c. Plain

d. Argumentative

Ans-B

(13)________________is a process that  ensures   that the information you have  witten is accurate and                               

          functional

a. Validation

b. Research

c. Tooling

d. Reading

          Ans-A

 (14) Structures  have______________While functions have instructions

a. Inscription

b. Verticality

c. Description

d. Linerarity

Ans-C

(15) ____________________ is digestible unit of information

        (a)  Chunk

      (b)  Data

      (c)   Structure

      (d) Hierarchy

      Ans-A

(16)__________________ is a weakness of SDLC

a. Complex Steps

b. User input is limited

c. Control

d. None of the above  

Ans-B

(17)   Which of the following  is the third step in SDLC phase

     Requirement Analysis and Design

      (b)Testing

      (c)Implementation 

      (d)Monitoring

  ans-C

(18)   I will be _____________   Marie tomorrow

a. help

b. helping

c. helped

d. helps 

ans-(B)

(19) Bob ____________ to America last year

a. Go

b. Went

c. Gone

d. Goes

       ans –B

(20) He _________  working in Washington for 5 years

(a) is been

(b)  are been

(c)  has been

(d)  have been

          ans-C

(21) He was killed______________a servant

a. by

b. with

c. from

d. None of the above

            ans-  A

(22) He jumped ______________ the horse

a. Upon

b. On

c. At

d. None of the above

Ans-A 

(23) The word beauty,charity,,laughter and childhood  are ________Noun

a. Proper noun

b. Common Noun

c. Collective Noun

d. Abstract Noun

Ans-D

(24) The word  city ,river,dog are ______________Noun

a. Common Noun

b. Collective Noun

c. Abstract  Noun

d. Proper Noun

Ans-A

(25) What is  the adverbial form of srong

            ( a)Strong

             (b)Stronger

             (c)strongest

             ( d )Strongly

Ans-D

(26) Which of the following is the step in  SDLC phase

a. Requirement  Analysis & Design

b. Testing

c. Implementation

d. Monitoring

                Ans-C

(27)  What is the Articles used before the word English?

a. An

b. A 

c. The

d. None of the above   

Ans-D

(28) Insert article in the following sentence :

And they lived happily ever after, say ____ fairy tales.

a. A           

b. An          

c. The            

d. Zero article

Ans-C

(29) Pick out the Pronoun in the following sentence:

I am afraid you may have to wait.

a. I 

b. You

c. Have

d. a,b 

Ans-D

(30)    What is the correct past continuous form of the following sentence 

    Maria has seen this movie three times.

a. Maria was seen this movie three times.

b. Maria was seeing this movie three times.

c. Maria had seen this movie three times.

d. None

Ans-B

(31) What is the American English of the following word

       State school

a. Private school

b. Public school

c. Both

d. None

Ans-B

(32) Indicate the correct choice in the following sentence

       She retired to her _________ on the train.

a. Birth

b. Berth

c. Born

d. None

Ans-B

(33)______________ is an example of the sort of ethical code that technical communicators might flow

a. TWA code

b. STC code

c. ASNE code

d. Editor’s Guide Code

Ans-B

(34)  Two smart girls in the class  _________  chosen to win the award

a. Was

b. Were

c. Are

d. Have

         Ans-B

  (35)   She drank a little water ,where a little indicates
a. Adjective of quality

b. Interrogative Adjective

c. Adjective of quantity

d. None of these    
 Ans-C

(36) Mary goes to school every day, where  the word  goes indicates 

a. Regular action

b. Habitual

c. Permanent truth

d. None of these 

Ans-A

(37)    You  should place the key information  at   the_______________ of the sentence

a. beginning

b. end

c. middle

d. None of these            

Ans-B

(38) Most _________nouns take singular verb

a. Collective  Noun

b. Material  Noun

c. Common  Noun

d. None of these

Ans-A

(39)Time is _____________conjunction

a. Co-ordinate

b. Sub-Ordinate

c. Predicate

d. None of these

Ans-B

(40) We hung the picture  ___________the fire place

a. above

b. over

c. below

d. None of the above

Ans-B

  (41) Fill in the blanks with suitable word

    (i) He has been working in Washington  __________ 5 years

    (ii) He has been teaching to me  __________8:30A.M 

a. For, Since

b. Since, for

c. From, Since

d. None of the above    

 Ans-A

    (42) Fill in the blanks with suitable word

    (i) This is the custom  __________the tribes

    (ii) I have to choose   __________ two pictures  

a. among , among

b. between , between

c. between, among

d. among, between

      Ans-D

      (43) In __________editing you need to check the content of the material   and

             In ___________editing  necessary revisions to individual sentences or graphics.

a. Macro, Micro

b. Micro,  Macro 

c. Mini,    Micro

d. None of these

        Ans-A

(44)  Technical document often  differ in _________and __________from other

       Non fiction prose

a. Format ,Style

b. Style   ,Format

c. Style  ,Style

d. None of the above 

Ans-B

      (45)What is the  meaning  of the following abbreviation 

           ( i) Ab    (ii)   Awk

a. a faulty abbreviation,    awkward expression or construction

b. awkward  expression or construction  , a faulty abbreviation

c. abbreviation  , awkward

d. None of the above

Ans-A 

     (46) Fill the suitable preposition on the following sentences

           ( i) The loan will be repaid  _____ a year

           (ii) The loan will be paid _______ a year

a. in ,within 

b. within,in

c. within,within

d. none of the above     

       ans-A

(47) ______________is familiar to everyone who reads books

       and _____________learn by surfing the internet

a) Linear Structures,Non-Linear structures

b) Non-Linear structures,Linear structures

c) Vertical structure, Horizontal structures

d) None of the above  

Ans-A

(48) Find out the Noun in the following sentence

The shop man hasn’t opened his shop today

a) Man

b) Shop

c) 1 and 2

d) none

Ans-C

.

(49)  Identify the  categories of audiences

a) Expert,Tecnicians

b) Executives,Non-specialists 

c) Both a and b

d) None of the above   

Ans-C

(50)Which one is the list of common noun from the following

a) student,city,river,dog

b) crowd,flock,swarm

c) France, Tim,The ganges

d) None of the above 

Ans-A

 (51)  __________ is digestible unit of information

            and ________is the  actions or description that occurs in the sentence 

a) Chunk,predicate

b) Data

c) Structure

d) Hierarchy

Ans-A

   (52)________ is a process that ensures that the information you have written is accurate and functional:

          and _________is a major branch of philosophy,encompassing right conduct and good life.

a) Validation  ,Ethics

b) Research  ,Ethics

c) Tooling  ,Validation

d) Reading,Ethics

Ans-A

(53)   What  are the  meaning  of  Wdy  and  WW ?

a. Wordy, Wrong Word

b. Wrong Word,  Wordy

c. Wordy,  Wordy

d. None of the above 

         Ans-A 

54.    (i) The house is  _______________ the river 

( ii) _________being good at tennis ,he is also an excellent player of golf

a. beside ,   besides

b. besides  ,  beside

c. beside  ,    beside

d. None of the these

Ans-A     

  55   When I saw my friend, I was walking _______the road ________my dog   

a. cross  ,with

b. cross ,and

c. across ,with

d. None of these 

      Ans-C

56  My father leaves me  _________school his way to  office  _____________scooter

       ( a)     AT,   ON

(b) ON , AT

( c)    ON,ON

(c) None of these

Ans-A

      (57)    What  is the full form of   RAD    and   JAD

a. Rapid  Application  Development   ,Joint Application  Development

b. Real   Application Development, Joint Application Development

c. Real Application development ,Join Application Development

d. None of these 

Ans-A

(58)  Fill in the blanks  

 ( i )Beautiful resorts are coming up _____________the sea 

 (ii)Do you mind taking your  leg _________the table

a. by, off

b. with ,  off

c. by  , with

d. None of the above

Ans-A

   (59)    He lives  _________ juhu _________ Mumbai

a. in ,  at

b. at  , in

c. in ,  in

d. at  , at

 Ans-B

(60)    What is the meaning of 

         (i )||

         (ii)Pron

a. Problem in parallel form,Problem with  Pronoun

b. Parallel form ,  problem  with  pronoun

c. Problem in parallel form  ,Program wih pronoun

d. None of  these 

Ans-A

61     Proof  readers  should concentrate  on  regions

I. Content

II. Spelling

III. Others  

IV. Grammer

a. i  ,ii ,iii ,iv 

b. i  ,ii  ,iii

c. ii ,iii ,  iv 

d. None of these       

Ans-b

62  The  modern distance  running shoe  has  the components

I. The outsole

II. The heel wedge

III. The midsole

IV. The shell 

a. All the above

b. ii and iv only

c. i  ,ii  ,iii 

d. None of the above

Ans-a  

63 What are the kind of sentence

V. Declarative sentence

VI. Interrogative sentence

VII. Exclamatory sentence

VIII. Imperative sentence         

a. All the above 

b. ii and iii only

c. ii ,  iii  , iv

d. None of the above   

Ans-A

64 What are  The four part structure of  description

i. Title or section heading

ii. General introduction that tells the reader what the process is  and what is used for 

iii. State by Step description of the process

iv. Conclusion that summarizes the description and explains how the steps works together    

e. I and II only

f. III and IV

g. I ,II ,III

h. All the above

 Ans-D

65 Match the following

        Column A                       Column B

      1.  Likewise                      i   Generalises or summarises                            

      2.  On the other hand        ii   Indicates similarity

      3. Despite                          iii  Refers to alternative

      4.In brief                           iv   Contradicts the idea

a. 1-ii , 2-iii,    3 -iv  ,4-i 

b. 1-iii,  2-iv ,3-ii,  4-i

c. 1-iv,2-iii,3-i,4-ii

d. None of the above

Ans-A

(66) Match the following

     1 .Open day                 i.Teachers lounge

     2. Staff  room              ii. Open House

     3.Lorry                        iii.Sidewalk

     4. Pavement                iv.Truck

a. 1-ii,   2-i, 3-iii,4-iv

b. 1 -ii ,2-i, 3-iv,4-iii

c. 1-i, 2-ii,3-iii,4-iv

d. None  of these   

    Ans-B

(67) Which one  is  the  set of  major components  of modern distance running shoes

i. the  ribbion

ii. the heel wedge

iii. the midsole

iv. the outsole

a. i ,  ii  ,iii

b. ii   ,  iii , iv

c. i,  iii ,iv

d. None of the above

Ans-B

(68) Which one is not  set of relation expressed by preposition

i. Preposition of place

ii. Preposition  of method

iii. Preposition of time

iv. Preposition  of constant

(a)    ii,iii,iv     

  (b)   i,  ii  ,iii 

  (c)   i, iii  ,iv 

  (d)   None of the above

       Ans-B

(69) what are the phases involved in  SDLC 

i. Feasibility

ii. Implement

iii. Coding

iv. Maintain    

a. i,   ii ,iii ,iv

b. ii ,iii ,iv 

c. i, ii ,iii

d. i, ii ,iv 

                  Ans-D

70.   What are the types of    present tense

i. simple present

ii. simple continuous

iii. present perfect

iv. present perfect continuous   

a. ii, iii ,iv

b. i, ii ,iii

c. i, iii ,iv 

d. None of the above

  Ans-C

71. What are the types of sentences

i     Declarative Sentences

ii
Interrogative Sentences

iii   Exclamatory Sentences 

iv   Operative sentences

a. i,   ii ,iii

b. ii, iii,iv

c. i,  iii ,iv

d. None of  the above

Ans-A 

72.What are the subordinate Conjuction

 i
Time

ii 
Manner

iii 
Place

iv 
Purpose         

a. i, ii ,iii ,iv

b. i, ii ,iii

c. iii,iv

d. None of the above

Ans-A

73. Match the column 

       Column A                    Column B

      1. Later                            i
    in order

      2. Latter                           ii.  in  time

      3. Latest                          iii.  in order

      4. Last                             iv  in time

a. 1-ii,   2-i, 3-iv, 4-iii

b. 1-iv,2-i,  3-ii, 4-iii

c. a and b

d. 1-iii,2-ii,3-i,  4-iv 

Ans-C

 74   Match the Simple word corresponding the Pompous words

   1.
Advice              i.      Show

   2.
Ascertain           ii.     Tell

   3.
Demonstrate     iii.   start ,begin

   4.
Commence       iv.   Learn, Find out   

a. 1 -ii, 2-iv,3-i, 4-iii

b. 1-ii, 2-ii,  3-i,  4-iv

c. 1-iv,   2-iii,3-ii, 4-ii

d. None  of the above

Ans-A

75 What are the weaknesses of SDLC

i. Increased  development time

ii. Increased development cost 

iii. Hard to estimate  costs ,project  overruns

iv. User input is sometimes limited    

(a) ii ,iii ,iv

(b)i , iii ,iv

(c) i ,ii ,iii ,iv

(d) None of the above

Ans-C 
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